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iz'uif=kdk lksMfo.;kiwohZ o`Qi;k [kkyhy lwpuk dkGthiwoZd okpk %
(1)	 ;k iz'uif=kosQr nksu foHkkx vkgsr- R;kiSdh foHkkx I eè;s izFke Hkk"kk fo"k;klkBh 1 rs 25 o foHkkx II eè;s xf.kr 

fo"k;klkBh 26 rs 75 vls ,owQ.k 75 iz'u vkgsr- loZ iz'u lksMfo.ks vko';d vkgs-

(2)	 izR;sd iz'uklkBh 2 xq.k vkgsr-

(3)	 iz'uif=kdk lksMfo.;klkBh ,owQ.k 90 fefuVkapk dkyko/h fnyk tkbZy-

(4)	 mRrjs uksanfo.;klkBh Lora=k mRrjif=kdk fnysyh vkgs- izR;sd iz'uozQekadkleksj pkj i;kZ;klkBh ozQekxr orqZGs fnysyh 
vkgsr- R;krhy vpwd mRrjkpk i;kZ; ozQekad vlysys orqZG iq<hy mnkgj.kkr nk[kfoY;kizek.ks jaxok-

	 mnk- iz'u ozQ- 6 P;k cjkscj mRrjkpk i;kZ; ozQ- 2 vlsy] rj rks iq<hyizek.ks uksanokok-

	 iz'u ozQ- 6 	 	 	    

(5)	 [kkyhyizek.ks uksanfoysyh mRrjs xzkgÔ /j.;kr ;s.kkj ukghr- vls mRrj uksanfoY;kl R;k iz'ukl ^'kwU;* xq.k fnys tkrhy-

	 			 	 	 	     

(6)	 i;kZ;kph mRrjs uksanforkuk IkQDr dkGÔk fdaok fuGÔk jaxkP;k ckWyisupkp okij djkok- isfUlyus uksanfoysyh mRrjs xzkgÔ 
/j.;kr ;s.kkj ukghr-

(7)	 ,dnk uksanfoysyh mRrjs iqUgk cnyrk ;s.kkj ukghr-

(8)	 iz'uif=kosQr deky 20% iz'ukaP;k ckcrhr mRrjkaP;k pkj i;kZ;kaiSdh nksu i;kZ; vpwd vlrhy- rs nksUgh i;kZ; 	
uksanfo.ks ca/udkjd vkgs- R;klkBh R;k iz'ukaP;k iq<s ^nksu vpwd i;kZ; fuoMk* v'kh lwpuk dalkr fnysyh vkgs-

(9)	 ^nksu vpwd i;kZ; fuoMk* v'kh lwpuk fnysY;k iz'ukO;frfjDr brj izR;sd iz'uklkBh ,dkis{kk vf/d orqZGkr uksanfoysyh 
mRrjs o [kkMk[kksM d#u uksanfoysyh mRrjs xzkgÔ /j.;kr ;s.kkj ukghr- 

(10)	 iz'uif=kosQr izR;sd ikukoj [kkyh o 'ksoVP;k ikukoj dPps dke dj.;klkBh eksdGh tkxk vkgs] rsFksps dPps dke djkos-

(11)	 ijh{ksl e;kZfnr osG vlY;kus ,[kknÔk iz'ukps mRrj rqEgkyk ;sr ulY;kl iq<hy iz'u lksMok- 'ksoVh osG f'kYyd 
jkfgY;kl mjysY;k iz'ukalkBh iqUgk iz;Ru djk-

(12)	 ,[kknÔk iz'ukr =kqVh@pwd vk<GY;kl R;kckcr i;Zos{kd fdaok ijh{kk osaQnzlapkyd ;kaP;kdMs fopkj.kk d: u;s-

(13)	 iz'ukrhy =kqVh@pwd@vk{ksikckcrps fuosnu 'kkGsus fdaok ikydkauh xVf'k{k.kkf/dkjh fdaok f'k{k.kkf/dkjh ;kaP;kdMs ys[kh 
Lo:ikr u ikBork lacaf/r 'kkGsP;k ykWxhu e/wu vkWuykbZu i¼rhusp ikBokos-

(14)	 =kqVh@pwd@vk{ksikckcrps fuosnu vkWuykbZu i¼rhus ikBfo.;kph eqnr ijh{kk ifj"knsP;k laosQrLFkGkoj varfje (rkRiqjrh) 
mRrjlwph izfln~/ >kY;kiklwu 10 (ngk) fnolkai;Zar jkghy- 

(15)	 eqnz.knks"k fdaok vU; dkj.kkaeqGs iz'u pqdhpk vlY;kps vk<GY;kl rK lferhP;k vfHkizk;kuqlkj rks jn~n osQyk tkbZy-

(16)	 eqG ekè;eklkscr baxzth Hkk"ksrhy iz'uif=kdk fnysyh vkgs- ewG ekè;ekrhy lafnX/ iz'ukackcr baxzth iz'u igkosr-

iwoZ ekè;fed f'k";o`Rrh ijh{kk (b;Ùkk 8oh)] isQczqokjh 2018

Alap

osG % 11-00 rs 12-30
,dw.k xq.k %150

iz'uif=kdk ozQ- I
i`"B %  32

ekè;e % ejkBh
izFke Hkk"kk o xf.kr

0 1 1 1
cSBd ozQ- 
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foHkkx I

izFke Hkk"kk

iz'u 1 rs 3% lkBh lwpukµ [kkyhy mrkjk dkGthiwoZd okpk] o R;koj vk/kfjr R;k[kkyh 
fopkjysY;k iz'ukaph ;ksX; mRrjs i;kZ;karwu fuoMk

lok±P;k HkY;kP;k ;k dYiuspk lq#okrhyk LoIujatu Eg.kwu migkl dj.;kr vkyk- oqQBY;kgh xks"VhP;k 

tUekP;k osGh rh ifjiw.kZ ok lqanj vlrsp vls ukgh_ cgq/k vkscM/kscM vlsp frps :i vlrs- 	

vk/qfud ra=kkpk lektO;oLFkslkBh [kwip mi;ksx gks.kkj vkgs- lkekftd dk;kZP;k rGeGhr cklukrY;k 

dkiwjoMÔk gqaxowu pky.kkj ukgh] ¯dok rh dYiukp Lokgkdkj d:u gte djrk ;s.kkj ukgh- foKku] 

;a=k ra=k vkf.k v¯gld fnysjhlkBh rks ea=kgh vkgs- xkokus vkiY;k uO;k fi<hyk ;kps n'kZu ?kMowu 

vk.kys ikfgts- foKkukus ve;kZn la/h miyC/ d:u fnyh vkgs_ rh vkrk oqQ.kk tkrhph ok oqQGkph 

ekyeÙkk jkfgysyh ukgh- vkiY;k 'ksrhiz/ku ns'kkr dksaMh dj.kkjs] iqjkru ckysfdYys] rV iq"dG 

va'kh <klGys vkgsr rjh R;kph pkgwy ykxyh vkgs [kkl- i.k 'ksrdÚ;kaph izxrh osQoG lektoknh 	

?kks"k.kkauh ̄ dok erif=kosQP;k fp=kkoj BIis ykowu gks.kkj ukgh- R;k 'kkbZP;k iqQY;k uoh O;oLFkk vk.kw 'kdr 

ukghr- foKkukph tksM vlysyh rGeG ghp vkiY;k 'ksrhiz/ku ns'kkyk rk:u usbZy- rsFksp erisVhrwu 

tUeysY;k uO;k usr`Rokyk oko feG.kkj vkgs-

	 1.	 vkiY;k 'ksrhiz/ku ns'kkpk rkj.kgkj dks.kkl EgVys vkgs\

	 (1)	tkfrHksnkaP;k rVkauk	 (2)	lektoknh ?kks"k.kkauk

 	 (3)	foKkukph tksM vlysY;k rGeGhyk 	 (4)	deZB fopkjkauk

	 2.	 ^FkV~VkeLdjh dj.ks* ;k vFkhZ dks.krk oko~Qizpkj mrkÚ;kr vkyk vkgs\

	 (1)	 migkl dj.ks	 (2)	gte dj.ks

	 (3)	Lokgk dj.ks	 (4)	dksaMh dj.ks
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	 3.	 mrkÚ;krhy o.kZukuqlkj vlR; fo/ku dks.krs\

	 (1)	vk/qfud ra=kKkukpk mi;ksx lektO;oLFkslkBh gksbZy-

	 (2)	dks.krhgh xks"V tUekP;kosGh lqanj vlrs-

	 (3)	vkiyk ns'k 'ksrhiz/ku vkgs

	 (4)	foKkukus ve;kZn la/h miyC/ d:u fnyh vkgs-

iz'u 4 rs 6% lkBh lwpukµ iq<hy laokn dkGthiwoZd okpwu R;k[kkyh fopkjysY;k iz'ukaph 
vpwd mÙkjs i;kZ;krwu fuoMk-

^^vgks v..kk] rqEgh eqyxk ;k;ph okV ikgw udk] pyk mpyk vkckauk-**

^^vkj rkR;k] vki.k dlk fu.kZ; ?;k;pk\**

^^v..kk] nknkyk [kwi m'khj gks.kkj vkgs] vkEgh vkgksr cjkscj] i.k pyk yodj fnos ykx.khph osG >kyh-**

^^cja 'kkark-** 

^^gs ?;k rkR;k iSls] iksjkua ikBoys gksrs xsY;k efgU;kr-**

^^vxa vkbZ] vkgsr ekÖ;kdMa] rw udks dkGth d:-**

^^vlkoar tkLr&deh nok[kkU;kpa dke gk;**

^^udks /ksaMwukuk] rqEgh pyk] ?;k ekÖ;k xkMhr-**

^^vxa 'kkark] rw rqÖ;k ?kjh tk] eh tkobZckiwaP;k xkMhrwu gÔkauk ?ksÅu tkrs-**

^^vxa] rw d'kkyk\ vkEgh vkgksr uk] rw ?kjhp Fkkac-**

^^rkR;k] v..kk rqEgh tk cja ;kaP;kcjkscj-** vkbZ Eg.kkyh

	 4.	 ojhy laoknkr fdrh t.kkauh Hkkx ?ksryk vkgs\

	 (1)	 ikp	 (2)	lkr

 	 (3)	pkj	 (4)	lgk

	 5.	 ojhy laokn dks.kR;k fBdk.kh >kyk vlkok\ 

	 (1)	/ksaMwukukP;k ?kjh	 (2)	vkckaP;k ?kjh

 	 (3)	 nok[kkU;kr	 (4)	tkobZckiwaP;k ?kjh
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	 6.	 ojhy laoknkph osG dks.krh vlkoh\

	 (1)	ldkGh	 (2)	nqikjh

	 (3)	laè;kdkGh	 (4)	fuf'pr lkaxrk ;sr ukgh-

	 7.	 ^olu* ;k 'kCnkyk ;ksX; lekukFkhZ 'kCn fuoMk- (nksu vpwd i;kZ; fuoMk)

	 (1)	fuokl	 (2)	vacj

	 (3)	oL=k	 (4)	vklu

	 8.	 ^c{khl* ;k 'kCnkpk ;ksX; fo#¼kFkhZ 'kCn i;kZ;karwu fuoMk- (nksu vpwd i;kZ; fuoMk)

	 (1)	vfHkuanu	 (2)	naM

	 (3)	p<kvks<	 (4)	f'k{kk

	 9.	 iq<hyiSdh 'kqn~/ 'kCn fuoMk-

	 (1)	vR;afrd	 (2)	izkoh.;

	 (3)	Nafn"B	 (4)	HkkSfefRrd

	10.	 iq<hyiSdh dks.kR;k i;kZ;krhy vkyadkfjd 'kCnkpk vFkZ v;ksX; vkgs\

	 (1)	>kjhryk 'kqØkpk;Z& iMn~;kekxpk lw=k/kj

	 (2)	okf?k.khps nw/& vaxkr 'kkS;Z mRiUu dj.kkjh xks"V

	 (3)	ctctiqjh& xksa/Gkph fLFkrh

	 (4)	uxnukjk;.k&vR;ar Jhear O;Drh-

	11.	 iq<hy okD;iwrhZlkBh ;ksX; oko~Qizpkj fuoMk- 

		 ekÖ;k ijns'kh fe=kkadMwu vkf.k ukrsokbdkadMwu R;k ns'kkrhy ygku eksB;k uk.;kaph nqfu;kgh 

ekÖ;k --------------

	 (1)	nIrjh nk[ky gks.ks	 (2)	bfrgkl jp.ks

	 (3)	eqBhr ;s.ks	 (4)	dosr ;s.ks
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	12.	 iq<hy vko`Qrhr yiysY;k vFkZiw.kZ Eg.khrhy eè;Hkkxh ;s.kkjs v{kj dks.krs\

	 (1)	j

	 (2)	e

	 (3)	/

	 (4)	u       

Eg

'kh

/
.k

yk

Hk
e

j
nw

es
Y;k

	13.	 iq<hy i;kZ;krhy dks.kR;k 'kCnkrhy o.kZla[;k vdjk vkgs\

		 (nksu vpwd i;kZ; fuoMk-)

	 (1)	czg~ep;Z	 (2)	Kkuo`n~/h

	 (3)	v{kjKku	 (4)	loZJqr

	14.	 la/hizdkjkuqlkj folaxr vl.kkjk i;kZ; fuoMk-

	 (1)	 fxjh'k	 (2)	 izR;sd	 (3)	rikscy	 (4)	/kjks".k

	15.	 vktksckaP;k eukryk iq.;kyk tk.;kpk fopkj rwrkZl rjh iqlyk xsyk gksrk- ;k okD;krhy 

v/ksjsf[kr 'kCnkpk fØ;kfo'ks"k.k izdkj vksG[kk-

	 (1)	dkyn'kZd fØ;kfo'ks"k.k vO;;	 (2)	lkrR;n'kZd fØ;kfo'ks"k.k vO;;

	 (3)	vko`Ùkhn'kZd fØ;kfo'ks"k.k vO;;	 (4)	fLFkrhn'kZd fØ;kfo'ks"k.k vO;;

	16.	 iq<hyiSdh laefrn'kZd osQoyiz;ksxh vO;; vksG[kk-

	 (1)	th	 (2)	p

	 (3)	,	 (4)	'kh
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	17.	 ^'kk[kkèx* ;k >kMko:u R;k >kMkoj mMÔk ekjrks- ;k okD;krhy v/ksjsf[kr 'kCnkps fo#n~/

fyaxh uke dks.krs\

	 (1)	okujh	 (2)	gfj.kh

	 (3)	lkfjdk	 (4)	e`xh

	18.	 Li/sZrhy eqykauk c{khl $ ps vkd"kZ.k okVrs-

		 ;k okD;krhy v/ksjsf[kr 'kCnkP;k vusdopuh #ikl fnysyk foHkDrhpk izR;; tksMY;kl 

R;k 'kCnkps ;ksX; lkekU; :i dks.krs gksbZy\

	 (1)	c{khlk	 (2)	c{khlkaps

	 (3)	cf{klk	 (4)	cf{klka

	19.	 iq<hy okD;kpk iz;ksx vksG[kk-

		 xka/hthaP;k pGoGhr vusdt.k lgHkkxh >kys-

	 (1)	ldeZd Hkkos	 (2)	deZ.kh

	 (3)	vdeZd drZjh	 (4)	ldeZd drZjh

	20.	 iq<hyiSdh feJokD; vl.kkjk i;kZ; fuoMk-

	 (1)	rks brdk tsoyk] dh R;kP;k iksVkr nq[kw ykxys-

	 (2)	Li/sZr lgHkkxh >kyks] Eg.kwu eyk c{khl feGkys-

	 (3)	eh fp=k jaxoys_ Eg.kwu rs laqnj fnlw ykxys-

	 (4)	rw taxykr xsykl] Eg.kts rqyk vusd i{kh ikgk;yk feGrhy-
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	21.	iq<hyiSdh ;ksX; fojkefpUgs okijysys okD; vksG[kk-

	 (1) 	ckijs] dk; rks izpaM racw!

	 (2)	eh vkbZpk ^ykMksck* gksrks vkf.k eh ^vkbZosMk* gksrks- 

	 (3) 	ckck Eg.kkys] ^^[kjap! iksjh] lax.kdkpk efgek vxk/ vkgs**-

	 (4)	 rw] ?kjh osQOgk vlrksl js!

	22.	 iq<hyiSdh dks.kR;k i;kZ;krhy lkekfld 'kCnkpk foxzg ;ksX; ukgh\

	 (1) 	Hkolkxj & lalkj:ih lkxj	 (2)	Kkuke`r & ve`rkps Kku

	 (3) 	;Fkk'kDrh & 'kDrh izek.ks	 (4)	?kjtkobZ & ?kjpk tkobZ

	23.	 ^Hkqtaxiz;kr* ;k o`Ùkkeè;s izR;sd pj.kkr fdrh v{kjs vlrkr\

	 (1)	 14			   (2)	15

	 (3)	 12			   (4)	17

	24.	 egknsoh oekZ ;kauk R;kaP;k dks.kR;k lkfgR;o`Qrhyk 1983 lkyh Hkkjrh; KkuihB iqjLdkj 

feGkyk vkgs\

	 (1)	 uhgkj	 		 (2)	;kek

	 (3)	 j'eh	 		 (4)	nhif'k[kk

	25.	 ^vk/qfud okfYedh* v'kh [;krh feGo.kkjs doh dks.krs\

	 (1)	x-fn-ekMxqGdj	 (2)	izfo.k no.ks

	 (3)	lq/hj iQMosQ	 (4)	fouksck Hkkos
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foHkkx II

xf.kr

	26.	1575 P;k uarj ;s.kkjh 49 oh lela[;k o 1028 P;k ekxhy 70oh lela[;k ;kaP;krhy 

iQjd gk dks.kR;k la[;sph oxZla[;k vkgs\

	 (1) 	24	 (2)	 28	 (3) 	19	 (4)	26

	27.	jfoukus ejkBhP;k iqLrdkpk 
3
4
 Hkkx o 17 ikus okpyh rsOgk 28 ikus f'kYyd jkfgyh_ o 

dktyus bfrgklkP;k iqLrdkpk 3
5
 Hkkx o 20 ikus okpyh rsOgk 26 ikus f'kYyd jkfgyh 

rj jfoukP;k iqLrdkph ikus dktyP;k iqLrdkP;k ikukais{kk fdrhus tkLr gksrh\ 

	 (1) 	65	 (2)	 75	 (3) 	55	 (4)	45

	28.	vk;Zu o vfnrh ;kaP;k vktP;k o;kaps xq.kksÙkj 4:5 vkgs- vfnrh o vFkoZ ;kaP;k vktP;k 
o;kaps xq.kksÙkj 3:2. vkgs] tj vk;Zups vktps o; 24 o"ksZ vlsy rj vFkoZps vktps o; fdrh\

	 (1) 	30 o"ksZ	 (2)	 16 o"ksZ	 (3) 	18 o"ksZ	 (4)	20 o"ksZ

	29.	 6 25 0 729 1 21

20 25

3
2

. . .

.
?

+ +







 =

	 (1) 	100	 (2)	 1	 (3) 	9	 (4)	4
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Section II

Mathematics

	26.	 Which of the following square number is the difference between the 49th 
even number after 1575 and 70th even number before 1028 ?

	 (1) 	24	 (2)	 28	 (3) 	19	 (4)	26

	27.	 When Ravina read 3
4  th part and 17 pages of a Marathi book, 28 pages 

were left to be read. When Kajal read 3
5  th part and 20 pages of History 

book, 26 pages were left to be read. 

		  How many more pages are there in Ravina's book than the number of pages 
in the book that Kajal has?

	 (1) 	65	 (2)	 75	 (3) 	55	 (4)	45

	28.	 The ratio of the present ages of Aryan and Aditi is 4 : 5. Ratio of the present 
ages of Aditi and Atharva is 3 : 2. If the present age of Aryan is 24 years, 
find the present age of Atharva.

	 (1) 	30 years	 (2)	 16 years	 (3) 	18 years	 (4)	20 years

	29.	 6 25 0 729 1 21

20 25

3
2

. . .

.
?

+ +







 =

	 (1) 	100	 (2)	 1	 (3) 	9	 (4)	4
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	30.	[kkyhy i;kZ;kr f=kdks.kklkBh rhu cktwaph ekis fnyh vkgsr- R;ko:u dks.kR;k i;kZ;krhy 
ekiko:u f=kdks.kjpuk gks.kkj ukgh\

	 (1) 	5.5 lseh-, 4 lseh., 7 lseh.	 (2)	7.2 lseh., 3.7 lseh., 5.2 lseh.

	 (3) 	4.2 lseh., 3.4 lseh., 8.5 lseh.	 (4)	8 lseh., 4 lseh., 5.3 lseh.

	31.	,dk cSyxkMhP;k pkdkpk O;kl 1.4 eh- vkgs- R;k xkMhus izokl djrkuk xkMhP;k pkdkps 
750 isQjs iw.kZ >kys rj R;k cSyxkMhus fdrh varj dkiys vlsy\ 

		 (nksu vpwd i;kZ; fuoMk)

	 (1) 	3300 eh-	 		 (2)	4400 eh-

	 (3) 	3.3 fdeh-	 		 (4)	4.40 fdeh-

	32.	nksu vadh ewGla[;srhy vadkph vnykcny d:ugh iqUgk ewGla[;kp feGrs v'kk feGkysY;k 

loZ uohu ewGla[;kph csjht gh 600 is{kk fdrhus deh vxj tkLr vkgs\

	 (1)	 171 us tkLr	 		 (2)	161 us deh

	 (3) 	161 us tkLr	 		 (4)	171 us deh

	33.	 100 64

1

6

36
=?

2 2( ) ( )





( )
−−  (nksu vpwd i;kZ; fuoMk)

							    

	 (1) 	23	 (2)	 8	 (3) 	100	 (4)	1

	34.	,dk pkSdksukP;k pkj dksukaph ekis vuqØes (2x + 10)°, (3x + 15)°, (4x – 30)° o  
(2x – 20)° v'kh vkgsr rj R;k pkSdksukP;k lokZr ygku ckgÔdksukps eki fdrh\

	 (1) 	60°	 (2)	 120°	 (3) 	100°	 (4)	80°
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	30.	 In the options below, lengths of 3 sides, to draw a triangle are given. In 
which option we can't draw a triangle ?

	 (1) 	5.5 cm, 4 cm, 7 cm		 (2)	7.2 cm, 3.7 cm, 5.2 cm

	 (3) 	4.2 cm, 3.4 cm, 8.5 cm	 (4)	8 cm, 4 cm, 5.3 cm

	31.	 The diameter of a wheel of a bullock cart is 1.4 m. How much distance 
will be covered if the wheel completes 750 rotations?  
(Choose two correct options)

	 (1) 	3300 m	 (2)	 4400 m	 (3) 	3.3 km	 (4)	4.40 km

	32.	 How much more or less than 600 is the sum of all those two digit prime numbers 
that we get by interchanging the digits from the two digit prime numbers ?

	 (1) 	more by 171	 (2)	less by 161

	 (3) 	more by 161	 (4)	less by 171

	33.	 100 64

1

6

36
=?

2 2( ) ( )





( )
−−  (Choose two correct options)

	 (1) 	23	 (2)	 8	 (3) 	100	 (4)	1

	34.	 The measures of four angles of a quadrilateral are (2x + 10)°, (3x + 15)°, 
(4x – 30)° and (2x – 20)° respectively; then find the measure of the smallest 
exterior angle of it.

	 (1) 	60°	 (2)	 120°	 (3) 	100°	 (4)	80°
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	35.	ohtiqjoBk dj.;klkBh nksu [kkac likV tfeuhoj mHks osQys- R;kaph maph vuqØes 20 eh o 
28 eh- v'kh vlwu R;k nksu [kkackarhy varj 15 eh- vkgs R;kaph ojhy nksu VksosQ ijLijkauk 
tksM.;klkBh dehr deh fdrh ehVj rkj ykxsy\

	 (1) 	8 ehVj	 		 (2)	15 ehVj

	 (3) 	48 ehVj	 		 (4)	17 ehVj

	36.	iq<hy jk'khps vo;o dks.krs\
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	37.	 5 16

7 18
=
2

3

x
x

−
−

 rj x = ? 

	 (1) 	16	 (2)	 20	 (3) 	15	 (4)	12

	38.	vkns'k vkiY;k ?kjkP;k mÙkjsdMs 200 eh- pkyr xsyk- uarj dkVdksukr if'pesdMs oGwu 
150 eh- varj pkyr xsyk- iqUgk dkVdksukr oGwu mÙkjsdMs 300 eh- pkyr xsyk- FkksM;k 
osGkus iqUgk dkVdksukr oGwu if'pes dMs 150 eh- tkÅu MkohdMs dkVdksukr oGkyk o 100 
eh- nf{k.ksdMs vkyk rj rks vkrk R;kP;k ?kjkiklwu ljG dehr deh fdrh varjkoj vlsy\

	 (1) 	900 eh-	 (2)	 750 eh-	 (3) 	500 eh-	 (4)	600 eh-

	39.	23 fdykseh 46 Msdkeh& 19 fdykseh 8 gsDVkseh 6 Msdkeh = ? (nksu vpwd i;kZ; fuoMk)

	 (1) 	4355 eh-	 (2)	 4.355 fdeh-	 (3) 	3600 eh-	 (4)	3.6 fdeh-
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	35.	 Two electric poles are erected on the ground. The height of the poles is  
20 m and 28 m respectively. The distance between the poles is 15 m. To join 
the top of the poles, how much wire will be required ?

	 (1) 	8 m	 (2)	 15 m	 (3) 	48 m	 (4)	17 m

	36.	 Factorise the following expression and choose the correct alternative.
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	37.	 If 5 16

7 18
=
2

3

x
x

−
−

, find x 

	 (1) 	16	 (2)	 20	 (3) 	15	 (4)	12

	38.	 Adesh walked 200m to North from his house. Then he turned in 90° and 
walked 150m to west. Again he turned in 90° and walked 300m to the North.  
After some time, he again turned through 90° and walked 150m to West. 
Then he turned through 90° to his left and walked 100m to the south. How 
far is he now, from his house?

	 (1) 	900 m	 (2)	 750 m	 (3) 	500 m	 (4)	600 m

	39.	 23 km 46 Decameter  – 19 km 8 Hectometer 6 Decameter =?  
(Choose two correct options)

	 (1) 	4355 m	 (2)	 4.355 km	 (3) 	3600 m	 (4)	3.654 km
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	40.	vkt Js;kP;k o;kP;k 4 iV frP;k vkbZps o; vkgs- 6 o"kk±uarj vkbZps o; Js;kP;k o;kP;k  

2
1

2
 iV gksbZy rj Js;kps vktps o; fdrh\ 

	 (1) 	8 o"ksZ	 (2)	 10 o"ksZ	 (3) 	6 o"ksZ	 (4)	9 o"ksZ

	41.	iq<hy loZ pkSjl ,d:i vkgsr o ;k loZ vko`Qrhps ,owQ.k {ks=kiQG 54 pkS- ,dd vkgs 
rj ;k vko`Qrhph ifjferh fdrh ;sbZy\

	 (1) 	54 pkS-,dd	 		 (2)	63 ,dd

	 (3) 	162 ,dd	 		 (4)	54 ,dd

	42.	a = m,   b = m – 4,   c = m + 2 rj 4a + 3 b – 7c = fdrh\

	 (1) 	26	 (2)	 14	 (3) 	–26	 (4)	–14

	43.	44 lseh ykachP;k nksu rkjk ?ksÅu R;kiSdh ,dk rkjsl orqZGko`Qrh vkdkj fnyk o nqlÚ;k 
rkjsl pkSjlkòQrh vkdkj fnyk rj r;kj gks.kkÚ;k nksUgh vkòQrhaP;k {ks=kiQGkrhy iQjd fdrh\

	 (1) 	110 pkSlseh	 		 (2)	33 pkSlseh

	 (3) 	66 pkSlseh	 		 (4)	44 pkSlseh

	44.	iq<hyiSdh dks.krk i;kZ; v;ksX; Bjsy\

	 (1) 	pkSjlkyk dkVdksu pkSdksu Eg.krk ;sbZy-

	 (2)	leHkwt pkSdksukps loZ xq.k/eZ pkSjlkr vk<Grkr-

	 (3) 	pkSjlkph cktw nqIiV osQY;kl {ks=kiQG pkSiV ;sbZy-

	 (4)	pkSjlkps loZ xq.k/eZ lekarjHkwt pkSdksukr vk<Grkr-
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	40.	 The presentage of Shreya's mother is 4 times the age of Shreya, After 6 years 
her mother's  age will be 2 1

2

times the age of Shreya. Find the present age 
of Shreya.

	 (1) 	8 years	 (2)	 10 years	 (3) 	6 years	 (4)	9 years

	41.	 The squares given in the following figure are congruent. The area of the 
given figure is 54 sq. units. Find the perimeter of the given figure.

	 (1) 	54 sq. units	 (2)	 63 units	 (3) 	162 units	 (4)	54 units

	42.	 If a = m,   b = m – 4,   c = m + 2, then 4a + 3 b – 7c = ?

	 (1) 	26	 (2)	 14	 (3) 	–26	 (4)	–14

	43.	 There are two wires of length 44 cm each. One wire is turned to give the 
form of a circle and the other is turned in the form of a square. Find the 
difference in the areas of two figures so formed.

	 (1) 	110 cm2		  	 (2)	33 cm2

	 (3) 	66 cm2		  	 (4)	44 cm2

	44.	 Which of the following alternatives are not correct?

	 (1) 	A square can be called as a rectangle.

	 (2)	 All the properties of a rhombus are present in a square.

	 (3) 	If the side of a square is doubled then its area is 4 times the original area.

	 (4)	 All the properties of a square are present in a parallelogram.
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	45.	vko`Qrhrhy js[kk PQ || js[kk RS o js[kk EF || js[kk GH rj ∠MNH. ps eki fdrh\	

F G

P

S

HE

R

Q O T

NM

(3x + 10)°

(2x – 25)°

	 (1) 	127º			   (2)	63º

	 (3) 	53º			   (4)	117º

	46.	,dk laLdkj f'kchjkr lgHkkxh >kysY;k 100 eqykaps o; n'kZo.kkjh okjaokjrk lkj.kh fnyh 

vkgs R;k o;kaps eè;eku dk<k- (nksu vpwd i;kZ; fuoMk)

o; (o"ksZ) okjaokjrk

8.0 20

10.5 30

12.0 25

7.0 25

	 (1) 	9.5 o"ksZ	 (2)	10 o"ksZ 3 efgus

	 (3) 	10.25 o"ksZ	 (4)	9 o"ksZ 6 efgus
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	45.	 In the following figure seg PQ || seg RS and seg EF || seg GH. Find ∠MNH.

F G

P

S

HE

R

Q O T

NM

(3x + 10)°

(2x – 25)°

	 (1) 	127°	 (2)	 63°	 (3) 	53°	 (4)	117°

	46.	 Following is the frequency distribution table showing the ages of 100 
students who had joined 'Sanskar Camp'. Find the mean of the ages. 

Age (years) Frequency

8.0 20

10.5 30

12.0 25

7.0 25

		   (Choose two correct options)

	 (1) 	9.5 years	 (2)	10 years 3 months

	 (3) 	10.25 years	 (4)	9 years 6 months
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	47.	50 eh- ykac] 6 eh- map o 
1
2  eh- #an v'kh ¯Hkr cka/.;klkBh 25 lseh ykac] 15 lseh 

#an o 5 lseh map ekikP;k fdrh foVk ykxrhy\

	 (1) 	60,000	 (2)	48,000

	 (3) 	1,20,000	 (4)	80,000

	48.	,dk la[;spk 20% gk nqlÚ;k la[;spk 25% leku vkgs- rj gs fo/ku [kkyhyiSdh  
dks.kR;k i;kZ;kr vkgs\

	 (1) 	3y = 2x	 (2)	6x = 4y

	 (3) 	4x = 5y	 (4)	2x = 3y

	49.	,dk o`ÙkfprhP;k vkdkjkP;k flesaV Vkdhpk O;kl 7 eh- vlwu maph f=kT;sP;k 6 iV vkgs 
rj R;k Vkdheè;s fdrh yhVj ik.kh ekosy\

	 (1) 	808500 yh-	 (2)	880500 yh-

	 (3) 	850800 yh-	 (4)	800500 yh-

	50.	 fnysY;k vko`Qrhy js[kk EF || js[kk IH, ∠F o ∠I gs dkVdksu vkgsr- EF = 24 lseh]  
EI = 9 lseh]  FG = 7 lseh] IH = 40 lseh rj vko`Qrhph ifjferh fdrh\

E F

G

HI

	 (1) 	121 lseh	 (2)	 96 lseh	 (3) 	114 lseh	 (4)	80 lseh
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	47.	 How many bricks of length, breadth, and height 25 cm, 15 cm, 5 cm 
respectively will be required to build a wall 50 m long 6 m high and 12  m wide?

	 (1) 	60,000	 (2)	48,000

	 (3) 	1,20,000	 (4)	80,000

	48.	 Which of the following alternative means that '20% of one number is equal 
to 25% of the other number'.

	 (1) 	3y = 2x	 (2)	6x = 4y

	 (3) 	4x = 5y	 (4)	2x = 3y

	49.	 How much water will be contained in a cylindrical cement tank if diameter 
of the tank is 7m and height is 6 times the radius?

	 (1) 	808500 litres	 (2)	880500 litres

	 (3) 	850800 litres	 (4)	800500 litres

	50.	 In the following figure EF || IH. ∠F and ÐI are right angles. If EF = 24 cm, 
EI = 9 cm, FG = 7 cm and IH = 40 cm.

		  Find the perimeter of the figure.
E F

G

HI

	 (1) 	121 cm	 (2)	 96 cm	 (3) 	114 cm	 (4)	80 cm
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	51.	ves;dMhy 360 #i;s jdesr 50 #i;kaP;k uksVkaP;k nqIiV 10 #i;kaP;k uksVk o 12 us 
tkLr 5 #i;kaP;k uksVk vkgsr rj loZ izdkjP;k ,owQ.k fdrh uksVk vkgsr\

	 (1) 	36	 (2)	 30	 (3) 	24	 (4)	28

	52.	
3

6
1

4

 ;k viw.kk±dkps 'krekukr #ikarj [kkyhy i;kZ;karwu fuoMk-

	 (1) 	18%	 (2)	 48%	 (3)	52%	 (4)	66%

	53.	,dk jdesph ljGO;ktkus 3 o"kk±ph jkl ̀ 7440 o 5 o"kk±ph jkl ̀ 8400 gksrs rj O;ktkpk 

nj n-lk-n-'ks dk; gksrk\

	 (1) 	8%	 (2)	 6%	 (3) 	10%	 (4)	9%

	54.	
1

m +n
 ph xq.kkdkj O;Lr la[;k – 19 vkgs- tj n = – 4, vlsy rj m ph ¯der dk<k- 

	 (1) 	15	 (2)	 23	 (3) 	–15	 (4)	–23

	55.	orqZGkojhy fnysys fcanw ijLijkauk tksM.;klkBh vk.k[kh tkLrhr tkLr fdrh js[kk[kaM dk<kos 
ykxrhy\

B

C

DF
E

A

G

	 (1) 	18	 (2)	 21	 (3) 	16	 (4)	19
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	51.	 Ameya had ` 360 with him. The number of notes of ` 10 is double the 
number of notes of ̀  50 and the number of notes of ̀  5 are more by 12 than 
the number of notes of ` 50. Find the total number of notes.

	 (1) 	36	 (2)	 30	 (3) 	24	 (4)	28

	52.	
3

6
1

4

 as a percent will become :

	 (1) 	18%	 (2)	 48%	 (3)	52%	 (4)	66%

	53.	 A sum amounts to ` 7440 in 3 years and to ` 8400 in 5 years by simple 
interest. Find the rate of interest.

	 (1) 	8%	 (2)	 6%	 (3) 	10%	 (4)	9%

	54.	 The multiplicative inverse of 
1

m +n
 is – 19. If n = –4, find 'm'

	 (1) 	15	 (2)	 23	 (3) 	–15	 (4)	–23

	55.	 To join all the points on the circumference of the circle how many more 
segments should be drawn ?

B

C

DF
E

A

G

	 (1) 	18	 (2)	 21	 (3) 	16	 (4)	19



Space for Rough Work

0111 – A P.T.O.22 of 32  

	56.	xksihpan 50]000 #i;kaP;k [kjsnhoj 40% lwV nsrks- rj fgjkyky rso<Ôkp jdesP;k 
[kjsnhoj izFke 25% lwV nsrks o vkysY;k jdesoj iqUgk 15% lwV nsrks- rj fgjkykyyk 
xksihpanis{kk fdrh #i;s deh vFkok tkLr feGrhy\

	 (1) 	̀ 1875 deh	 (2)	`1785 tkLr

	 (3) 	̀ 1875 tkLr	 (4)	dkghgh iQjd iM.kkj ukgh-

	57.	vkt ,dk 'kgjkph yksdla[;k 3,02,500 ,o<h vkgs- yksdla[;kok<hpk nj izfro"khZ 10% 
gksrk rj nksu o"kk±iwohZ R;k 'kgjkph yksdla[;k fdrh gksrh\

	 (1) 	2,80,000			   (2)	2,75,000

	 (3) 	2,48,000			   (4)	2,50,000

	58.	js"kk AB  js"kk RS  js"kk CD o js"kk PQ gh R;kaph Nsfndk vkgs- rj laxrdksu o vkarjdksu 
;kaP;k ,owQ.k fdrh tksM~;k vkgsr\

A

R

C N

Q

D

S

BO

M

P

	 (1) 	12	 (2)	 24	 (3) 	18	 (4)	28

	59.	,dk xksykps i`"BiQG 1386 pkSlseh vkgs rj R;k xksykph f=kT;k fdrh\

	 (1) 	11.5 lseh	 		 (2)	10.5 lseh

	 (3) 	8.5 lseh	 		 (4)	10.25 lseh
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	56.	 Gopichand gives 40% discount on the purchase of ` 50,000. Hiralal gives 
first 25% discount on the purchase of ` 50,000 and then again gives 15% 
discount to the customers. How much more or less amount will Hiralal 
receive than Gopichand?

	 (1) 	less by `1875	 (2)	more by `1785

	 (3) 	more by `1875	 (4)	no difference

	57.	 The present population of a city is 3,02,500. If the population increases by 
10% every year, what was the population of the city two years ago?

	 (1) 	2,80,000	 (2)	2,75,000

	 (3) 	2,48,000	 (4)	2,50,000

	58.	 Line AB || Line RS || Line CD. Line PQ is the transversal. Find the total 
number of pairs of corresponding angles and interior angels.

A

R

C N

Q

D

S

BO

M

P

.

	 (1) 	12	 (2)	 24	 (3) 	18	 (4)	28

	59.	 The surface area of a sphere is 1386 cm2. Find the radius of the sphere.

	 (1) 	11.5 cm	 (2)	 10.5 cm	 (3) 	8.5 cm	 (4)	10.25 cm
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	60.	 (8x – 6y + 4) vkf.k (6y – 3x + 7) ;kaP;k csjtsrwu (4 + 9y + 2x) gh jk'kh otk osQY;kl 
dks.krh cgqinh feGsy? 

	 (1) 	3x – 9y + 7	 (2)	3x – 3y + 7

	 (3) 	7x + 9y + 15	 (4)	7x – 9y – 15

	61.	iq<hyiSdh dks.krs fo/ku vlR; vkgs\ (nksu vpwd i;kZ; fuoMk)

	 (1)	 ikp Øeokj fo"kela[;kaph ljkljh fo"kela[;kap ;srs-

	(2)	fnysY;k la[;kaP;k xVkph ljkljh xVkrhy izR;sd la[;sis{kk eksBh vlw 'kdrs-

	(3) 	nksu lela[;kaph ljkljh fo"kela[;k vlw 'kdrs-

	(4)	,[kknÔk xVkrhy izR;sd la[;k leku vadkus deh osQY;kl R;k xVkph ljkljh cnyr ukgh-

	62.	,dk iQGfoozsQR;kus 48 #- M>u ;k njkus 48 M>u la=kh fodr ?ksryh- R;krhy 1 M>u 

la=kh [kjkc >kyh- mjysyh loZ la=kh 6 #i;kal ,d ;kizek.ks fodyh rj ;k O;ogkjkr R;kyk 

fdrh uiQk >kyk\

	 (1) 	̀  1128			   (2)	` 1220

	 (3) 	̀  1080			   (4)	` 1440

	63.	iq<hy cgqinhph dksVh fdrh\

	 	 m5 n2 p + 4 m4 n7 + 
2
3  m3 n2 p + 15 m2.

	 (1) 	11	 (2)	 14	 (3) 	7	 (4)	2
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	60.	 Which polynomial will you get after subtracting (4 + 9y + 2x) from the sum 
of (8x – 6y + 4) and (6y – 3x + 7)? 

	 (1) 	3x – 9y + 7	 (2)	3x – 3y + 7

	 (3) 	7x + 9y + 15	 (4)	7x – 9y – 15

	61.	 Which of the following statements are false. (Choose two correct options)

	 (1) 	Average of five consecutive odd numbers is an odd number.

	(2)	The average of the given numbers in a group can be more than each 
number in the group.

	(3) 	Average of two even numbers can be an odd number.

	(4)	If every number in a given group is reduced by a common number, then the 
average of the group does not change.

	62.	 A fruit-seller purchased 48 dozens oranges at the rate of ̀  48 per dozen, out 
of that 1 dozen oranges were spoiled. He sold the remaining oranges at the 
rate of ` 6 per orange. Find the profit that he earned in this transaction.

	 (1) 	̀  1128	 (2)	` 1220

	 (3) 	̀  1080	 (4)	` 1440

	63.	 Find the degree of the following polynomial. 

		  m5 n2 p + 4 m4 n7 + 2
3  m3 n2 p + 15 m2.

	 (1) 	11	 (2)	 14	 (3) 	7	 (4)	2



Space for Rough Work

0111 – A P.T.O.26 of 32  

	64.	 vko`Qrheè;s OP ⊥ ST. thok LM  thok ST, o 'O' gk osQæ¯cnw vkgs- ON = 6 cm 
LM = 16 lseh rj ;k orqZGkr lokZr eksBh thok fdrh ykachph dk<rk ;sbZy\ 

L MN

O

PS T

	 (1) 	32 lseh	 (2)	 20 lseh	 (3) 	12 lseh	 (4)	22 lseh

	65.	,dk leHkwt pkSdksukph cktw 4-1 lseh ykachph vkgs- o R;kpk ,d d.kZ 1-8 lseh ykachpk 

vkgs rj R;k pkSdksukps {ks=kiQG fdrh\

	 (1) 	10.8 pkSlseh	 		 (2)	3.6 pkSlseh

	 (3) 	7.2 pkSlseh	 		 (4)	8.1 pkSlseh

	66.	 m+
1

m
m

1

m
= ?

2 2







 − −








	 (1) 	0	 (2)	 4
2

2
+








m
	 (3) 	 m

m

2

2

1
+






 	 (4)	4

	67.	,dk daiuhus vkiys rhu izfrfu/h daiuhph tkfgjkr dj.;klkBh ckgsj ikBoys- ifgY;k 

izfrfu/hus nj 6 fnolkauh] nqlÚ;k izfrfu/hus nj 8 fnolkauh o frlÚ;k izfrfu/hus nj 

12 fnolkauh dk;kZy;kr ;sÅu vgoky nÔko;kpk v'kh lwpuk ns.;kr vkyh- rj rs frUgh 

izfrfu/h dk;kZy;kr dehr deh fdrh fnolkauh ,d=k HksVrhy\

	 (1) 	48	 (2)	 32	 (3) 	24	 (4)	72
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	64.	 In the following figure, seg OP ⊥ seg ST, chord LM | | chord ST, 'O' is the 
centre of the circle. ON = 6 cm and LM = 16 cm. Find the length of the 
longest chord that can be drawn in circle.

L MN

O

PS T

	 (1) 	32 cm	 (2)	 20 cm	 (3) 	12 cm	 (4)	22 cm

	65.	 The length of a side of a rhombus is 4.1 cm and one of its diagonals is 1.8 
cm long. Find the area of the rhombus.

	 (1) 	10.8 sq. cm			   (2)	3.6 sq. cm

	 (3) 	7.2 sq. cm			   (4)	8.1 sq. cm

	66.	 m+
1

m
m

1

m
= ?

2 2







 − −








	 (1) 	0	 (2)	 4
2

2
+








m
	 (3) 	 m

m

2

2

1
+






 	  (4)	 4

	67.	 A company deputed three representatives to promote its sales. The 
representatives were instructed that the first representative should report 
after every 6 days, the second representative should report after every 8 
days and the third, representative should report after every 12 days, in the 
office. Find the minimum number of days when all the three will meet in 
the office together.

	 (1) 	48	 (2)	 32	 (3) 	24	 (4)	72
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	68.	[kkyhy fo/kus okpwu ;ksX; i;kZ; fuoMk-

	 (v)	 6 us fu%'ks"k Hkkx tk.kkÚ;k la[;kauk 2 o 3 us fu%'ks"k Hkkx tkrks-

	 (c)	 15 us fu%'ks"k Hkkx tk.kkÚ;k la[;kauk 3 o 5 us fu%'ks"k Hkkx tkrks-

	 (d) 	600 ;k la[;syk 2] 3] o 5 us fu%'ks"k Hkkx tkrks-

	 (1) 	osQoG ^v* ;ksX;	 (2)	osQoG ^c* ;ksX;

	 (3) 	v] c] d frUgh ;ksX;	 (4)	v] c] d frUgh v;ksX;

	69.	 'O' osaQæ vlysY;k orqZGkps {ks=kiQG 308 pkSlseh vkgs rj  
js[kkafdr osQysY;k v/ZorqZGkph ifjferh fdrh\

	 (1) 	72 lseh	 (2)	58 lseh

	 (3) 	108 lseh	 (4)	36 2  lseh        
O

	70.	
4.8 + 3.2

4.8 4.8 3.2 + 3.2

= ?

3 3

2 2

( ) ( )
( ) ( )( ) ( )−−

	 (1) 	1.6	 (2)	 10	 (3) 	8	 (4)	1

	71.	la[;kjs"ksoj P ;k fcanwpk funsZ'kd 
4
7  vkgs- ¯cnw P o ¯cnw Q e/hy varj 

9
7  vkgs- rj 

Q pk funsZ'kd fdrh\

		 (nksu vpwd i;kZ; fuoMk)

	 (1) 	13
7

	 (2)	 5
7

	 (3) 	−13
7

	 (4)	 −5
7
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	68.	 Read the following statements and choose the correct alternative.

	 (A) 	The numbers that are divisible by 6 are completely divisible by 2 and 3 also.

	 (B)	 The numbers divisible by 15 are also completely divisible by 3 and 5.

	 (C) 	600 is completely divisible by 2, 3 and 5.

	 (1) 	Only 'A' is correct.

	 (2)	 Only 'B' is correct.

	 (3) 	All the three statements 'A', 'B' and 'C' are correct.

	 (4)	 All the three statements 'A', 'B' and 'C' are incorrect.

	69.	 The area of a circle with centre 'O' is 308 cm2. Find the perimeter of the 
shaded semi-circle from the following figure.

	 (1) 	72 cm	 (2)	58 cm

	 (3) 	108 cm	 (4)	36 2  cm         O

	70.	
4.8 + 3.2

4.8 4.8 3.2 + 3.2

= ?

3 3

2 2

( ) ( )
( ) ( )( ) ( )−−

	 (1) 	1.6	 (2)	 10	 (3) 	8	 (4)	1

	71.	 The co-ordinate of point P on the number line is 
4
7  . Distance between point 

P and Q is 
9
7  . Find the co-ordinate of Q. 

	 (1) 	13
7

	 (2)	 5
7

	 (3) 	−13
7

	 (4)	 −5
7
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	72.	 20 lseh cktw vlysY;k pkSjlkps {ks=kiQG gs 20 lseh d.kZ vl.kkÚ;k pkSjlkP;k {ks=kiQGkP;k 
fdrh iV vkgs\

	 (1) 	fueiV	 (2)	 nqIiV	 (3) 	pkSiV	 (4)	frIiV

	73.	nksu oLrw izR;sdh 1485 #i;kl fodY;kus ,dk O;ogkjkr 10% rksVk o nqlÚ;k O;ogkjkr 
10% uiQk gksrks rj ,danjhr ;k O;ogkjkr fdrh VDosQ uiQk vxj rksVk gksbZy\

	 (1) 	1.0% uiQk	 (2)	5% rksVk

	 (3) 	1.0% rksVk	 (4)	uiQk vxj rksVk gks.kkj ukgh-

iz'u 74 o 75 lkBh lwpukµ ,dk oqQVaqckpk ,d efgU;kpk fofo/ ckchaojhy [kpZ 
o`Ùkkys[kn~okjk nk[kfoyk vkgs- tj oqQVqackps ekfld mRiUu 23,400 #i;s vlsy rj [kkyhy 
iz'ukaph mRrjs nÔk-

50°
A

90°
B

76°
C

144°
D

	 (A)	 f'k{k.k	 (B)	 brj [kpZ	 (C)	diMs	 (D)	vUu/kU;

	74.	 f'k{k.kkoj ,owQ.k fdrh [kpZ >kyk vkgs\

	 (1) 	̀  3250	 (2)	 ` 5850	 (3) 	̀  11700	 (4)	` 9360

	75.	diMÔkais{kk vUu/kU;koj fdrh vf/d [kpZ gksrks\

	 (1) 	̀  3510	 (2)	 ` 6110	 (3) 	̀  4240	 (4)	` 4420
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	72.	 How many times will be the area of a square with side 20 cm to that of the 
area of a square with diagonal 20 cm.

	 (1) 	Half	 (2)	Two times

	 (3) 	Four times	 (4)	Three times

	73.	 Two articles were sold for ` 1485 each. One of them incurred a loss of 10% 
while the other earned a profit of 10%. What was the percentage of profit 
or loss in the overall transaction ?

	 (1) 	1.0% profit	 (2)	5% loss

	 (3) 	1.0% loss	 (4)	No profit no loss

Instructions for Q. Nos. 74 to 75 : The following pie diagram show the monthly 
expenses of a family on different items. If the monthly income of the family is 
` 23,400 answer the following questions.

	 (A)	 Education

	 (B)	 Miscellaneous expenses

	 (C)	 Clothing

	 (D)	 Food grains		       	                         

50°
A

90°
B

76°
C

144°
D

	74.	 What is the total expenditure on Education?

	 (1) 	̀  3250	 (2)	 ` 5850	 (3) 	̀  11700	 (4)	` 9360

	75.	 How much more expenses are incurred on clothing to that on Foodgrains?

	 (1) 	̀  3510	 (2)	 ` 6110	 (3) 	̀  4240	 (4)	` 4420
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